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CPU MSM8953 (8core) , 2.0GHz

GPU Adreno 506 1920 x 1200 @ 60 fps

RAM 4GB/ LPDDR3

ROM 04GB

Indicator light  ZeEIERT: REBELATAL. ZTEIJK=.
Rk B IR

L -Sensor light Sensor *1

Compass Compass Sensor *1

Gyro Sensor Gyro Sensor *1

G_sensor G_sensor *1

NFC < ¥5ISO/IEC N14443AMMY, EREEE: 3-5cm

WIF| WIFI 802.11 b/g/n/a/ac 5HZ2.4G+5G IERWIFI

iz BT4.1(BLE)

2G/3G/4G CMCC 4M: LTE B1,B3,B5,B7,B88,820,B38,839,840,B41
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GSM 2/3/5/8
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DC#2 [ DC 5V 3A $3.5mm EBIRIEO x1

HDMI#E Mini HDMI 1.4a Type C X1

¥ REEO 12pin Pogo Pin x1

OTG%, type—c OTGZ;

TYPE-C%; type—cEIELL

ARG HC 23 AC100V ~ 240V. 50Hz/60Hz #HHEHDC 5V/3A

M ICEINE (EESRAMEEM)

G E
IRIERSE Android 9.0
7 ERIAIE
IP65 IPX5, FiAB#: minEkKiiie, WML M:
=KFE . HRS N ERAEROEE/KERE, Fam/EEREIZKE
MEEBEZEDRN 1m , WAFEIEREKEEEZE/DN0.15m |
1L 38R (E): 30 min

CE NB Y

MIL-STD-810G Y

Battery UN38.3, MSDS,fn=. 8iziks, IEC62133
HESE 80cm FHLIAZS

THERE —-10 °C to 50 °C

FiERE ~30°Cto 70 °C

TE Humidity: 95% Non-Condensing
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